






Name: _______________________
Colligative Properties Worksheet

Freezing Point Depression

(Tf = m x kf x i
kf = 1.86 (C(Kg/mol (for water)

Boiling Point Elevation

(Tb = m x kb x i
kb = 0.51 (C(Kg/mol (for water)

m = molality

i = number of ions dissolved per molecule

kf = freezing point constant

kb = boiling point constant

1. 2.40 moles of sucrose are dissolved in 320mL of distilled water. (i = 1 for molecular solid.)

What is the boiling point of this solution?

2. 56.8g of NaCl is dissolved in 560mL distilled water.

What is the freezing point of this solution?

3. 89.7g of Ba(NO3)2 is dissolved in 1.25L of distilled water.

What is the boiling point of this solution?

4. A sodium chloride solution boils at 381K.  What is the concentration (molarity OR molality) of the solution?

5. A barium fluoride solution freezes at –4.2(C.  What is the concentration of the solution?

